
6.			F����	P
����	�
	R�������	
 
�  Check all fasteners in Matrix Pivot periodically to see if they are �ght. 

�  Do not over�ghten the four M6 bolts on the tube clamp as the clamp will bow and not 

lock properly. 

� Do not over�ghten any of the three M5 screws on the disc clamps as this may bow the 

discs and reduce the interference fit locking design. 

� If a wheelchair with the Pivot is used as a seat during transporta�on a risk assessment 

should be carried out. 

�  When fi$ng the Pivot to various supports make sure the correct interface is used.  

�  Check that this Guide is issued to, and understood by, the user and/or carers. 

Page 4 

5.   U*+,- ./0 P+12. .2 32*+.+2, 4 5267 *83329. */0::: 

Drawing D1 

These are usually fi=ed beneath the 

sea�ng support using four Pivots. 

See User Guide 6. 

D1 

3.3.		P��
�	����������	�
�	�������	����
��	P�
�����	
 
3.3.1 Seat and Back Fi$ng:  The 3 slot, Stainless Steel interface is shown on the 

right. Two of these are usually mounted long side ver�cally (as shown) on the 

Matrix Back (with 3 screws, on each plate, on the leE and right lateral aspects 

of the Back).  Make a single bend in one or more of the arms to fit to the 

locked Matrix shape. 

3.3.2 Other interfaces:  There are 2 and 4 slot interfaces available for slimmer 

and smaller moun�ng footprints.  

Website:    www.matrixseating.com  

Email:    sales@matrixseating.com 

Phone:  01747 850022 

matrix 
our products support you   

Page 1 

1.		G������	D��������
�	
�	P����	���		T

��: 

1.1		C
������	A������!:	

 

 

                                        P����: 

 

 

 

 

                             

 

           S��	
���� S�
�	 F�� T��� ����	: 

 

	

1.2		T

�	R�#�����:	

	

 

The	user	of	this	equipment,	including	carers	and	professionals	who	may	adjust	and	handle	it,	should	study	these	Instructions.		These	Instructions	

contain	important	information	about	the	use	and	application	of	Matrix	Pivot.	Because	of	the	clinical	and	safety	rami@ications	of	misuse,	injury	to	the	

user	or	others	could	result	if	you	are	unclear	about	how	it	works.		Please	keep	these	Instructions	to	refer	to	later.			

	

Matrix	Seating	Limited	(MSL)	accepts	no	liability	from	mis-application	of	this	product.	

U���	G����:				Pivot,		Fixed	Type	

4mm ball nose hex allen key 



2.		I���
�����
�:	
 

The Pivot is a simple modular mechanism for a=aching back supports and spe-

cial sea�ng to wheelchairs. It can pivot and move to allow Back and Seats to be 

posi�oned for clinically op�mal func�on and comfort.   It uniquely also allows 

lateral �lt.  
 

3.		H���D���:	
 

The Matrix Pivot is  made of  three main parts: 
 

1. An interface to the sea�ng product 

2. Locking Ball and Socket unit (Dumbbell) 

3. The wheelchair tube clamp accommoda�ng 19mm, 22.2mm 

and 25.4mm (3/4, 7/8 or 1 inch) tube diameters all in a single 

clamp  

 

 

NB:  All drawings are schema�c only 

 

		

	

3.1.		WF����F���	����	�����:	
 

The tube clamp will fit automa�cally to 1”, 7/8” or 3/4” (25.4mm, 22.2mm, 19.1mm) 

tubes:  these will fit most wheelchairs. The two clamp halves are connected with two 

M6 mushroom head hex bolts.  These are located in Picture 1 on the right, page 3, 

labelled, A.  Do not over�ghten these bolts, just enough to lock to the tubing. 

 

 

The arc contacts (above) between the clamp and tube are different for each different tube di-

ameter.  There will always be a ‘gap’ between the clamp haves and the tube as shown above.  

Do not keep �ghtening to try and reduce these gaps—they are meant to be there!  So, for exam-

ple, on the 1” tube there is a gap at the top and bo=om, on the 3/4”, on the sides.  The arrows 

above  point to the contact arcs for each of the 3 tube diameters.  

 

B and C show the possible clamp movement on the wheelchair tube controlled by the M6 bolts.  

The D arrows signify a spherical joint (3 rota�ons possible) at each end of the Dumbbell. 

Caution 

Page 2 

25.4mm, 1” 19mm, 3/4” 22.2mm, 7/8” 

Picture  1 

Fit and adjust the tube clamp so that it can be rotated easily but 

doesn’t slip down or move out of posi�on on the wheelchair tube. 

Using various rota�ons, the Pivot can 

be moved in mul�ple direc�ons includ-

ing front/back, side/side and rota�on 

and up/down movement on the tube.  

Picture 2 show the result of a simple 

rota�on of the top and bo=om ball and 

socket joints. 

3.2.		B���	���	S
�H��	I
���	
 
The two ball and socket joints (25.7mm diameter balls) lock by �ghtening the three 

M5 socket head cap screws using a 4mm ball nosed hex allen key.  Once the three 

screws are adjusted so the clamp disc is snug (movement with a li=le force), the disc 

clamp can be locked by only �ghtening one cap screw—do not over�ghten. 

 

See how to fit an earlier version of the Pivot in a 4 minute video on our website.  This is in 

the Pivot pull down menu, bo=om of the first page.  The path to this video is: 

h=p://www.matrixsea�ng.com/Pivot-wheelchair-interface-clamp.php   
 
 

Page 3 

A 

B 
C 

D 

D 

Picture  2 

Caution 


